PHYSICS

1. In motion of satelli i
o tellites, necessary centripetal force is providzd4
A. Gravitational Force
B. Coulomb's Force
C. Magnetic Force
D. Nuclear Force

ertain point in one

2. In ripple tank 40 waves pass through a ¢
5cm, then find the

If the wavelength of the waves is

second.
speed of wave. . o
A. 27 mis g
B. 3m/s .
C. 200m/s f:__ 244
D. 2m/s Sy
3 The product of frequency and time period is equal to:
A 2
B. 3
c. O
D. 1
-\ L]
“4. Troughofa wave acts as:
( / A. Concave lens

B. ConveX lens
~ Convex mirror

p. Plane mirror

if listener moves towards 2@ stationary SOUrceé

ter than original frequency

then: is grea
erved frequency S Egss than origind frequency
iinalﬁeqUEﬂC?

' rved frequel™
B ncy 1 ?nqdf " gent of origina! frequency

c. Observ
D Obsewedf
f:
6. Refrigerator is an exa P'ill'ﬂ ?cs
A. First Iawnfthermo ynd cs
5 w of Ihermodynam

]
C  Newlon |law of molion
06408

D  Entropy
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7. In a certain process, 400J of heat energy is supplied to a
system and .at the same time 150J of work is done hy the
system. The increase in internal energy of system is

A. 150J i
B. 300J
Cc. 250J
D. 500J

8. The rapid escape of air from a burst tyre is an example of:
A. Isothermal
B. Adiabatic
C. Isobaric
D. Isochoric

9. The bicycle pump works on the basis of:
A 1% Law of thermodynamics
B. 2™ Law of thermodynamics
C. Law of conservation of energy
D. Law of entropy

charges are placed 2m apart. The electric

10. Two positive point
two charges will be :

potential at mid-point due to these
A Added to double

B. Reduced to half

C_ Remains same (noO effect)

D Cancel each other effect

11. Which one of the following is the angle of projection of a
projectile if its range is equal to its helght?

A 480
B 60
c 90
D 76

12, The product of force and time Is equal to:
Angular momentum

Force
Change in momentum

Velocily

cOoOo>»

06408
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13.

14.

15.

16.

17.

18.

e
-

The time rate of change of li
inear m
equal to: r momentum of a hogy i,

A. Force
B. Momentum
C. Power

D. Acceleration

A 10 N force moves a body around a circular path of radius

iDcm.JWhat is work done in completing one revolution?
.9

B. Zero
C. 31.42J
D. 500J

3 kg stone falls from 20m high platform. Find its falling speed
at 10m height.

A 196 ms ey

B. 14ms’
C. 10ms™ :Wr )
D. 100 ms™ s NS F

:Juf EID

The area under force - displacement graph gives us:
A. Displacement
B. Power

C. Work '
D. Acceleration

Kilowatt-hour is unit of?
A. Electric Energy

g. Power
C. Momentum
D. Torque

energy as:
The food we eat in one day has about the same
A. 0.33 liter of petrol
B. 1 liter of petrol
C. 0.5 liter of petrol

D. 2 liter of petrol

19. One complete circle is equal to:

A. 2 radian

B- &
& S radian 06408
D. 6 radian
Pape 4 ol 32 '

Scanne d with CamScanner



. |
26. Red light is used in photographic dark room because of:

A More frequency. less wavelength

B Less frequency less wavelength

C Less frequency, more wavelength

D More frequency, more wavelength

27. For gaining an atomic spectra, an evacuated glass tube |5

filled with:

A Neon

B. Hydrogen

C. Carbon dioxide
D Sulphur dioxide

L'EB.W During production of x-rays the cathode and anode are
enclosed inside an evacuated glass chamber and high DC

voltage of the order of:

A. 1000 V 1s maintained

B 10000 Vis mamntained

C 25000 Vis maintained

D. 50,000 V is maintained

29. Hall-life of iodine-131 is 8 days. If 20mg is present initially,
how much iodine is left behind after 2 half-lives?

A 10mg
B 5mg
C 25mg
D. 125mg
30. 4.5 x10%years Is the half-life of:
A T
B U?'j'..
C U':':.!
D C'I!-t

31. When a charge “Q" on a capacitor is doubled then energy
stored “U" wili:

A 20 Qv
B 3uU -
C us2
D 40
06408
Fagn bl W)
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34,

35.

36.

37.

By increasing area of the plates and decreasing distance
heotween them, the capacitance of capacitor:

A Incroases ) & e
B Decroasos

G Remains unchanged

D Depending upon temperature

vy o %

I we double the soparation botweoen (wo charges  then
coulomb's force will becomeo?

Al e 1.3
A Doubled WRIURHE |
B Hall v .

C  dlimos

Doan

The powor of an oloctric bully s T00W, It I connouted o TV
power supply. The rosistance of electile bulh will bes

h | 1 "h“‘l J.l' {]‘1{‘-]" RN
B 121 0hm ) s | pree
C. 20 ohm

D. 200 ohm

Terminal voltago "Vi" of the battory s groator than emb ol the
battery whon:

A, Batlory is charging

B. Ballory is discharging

C. Batlery is connoclod with R

D. Ballery is connoctod with voltimelel

1
The temporature coofficlont of som gonduoton e egativ
becauso:
A Resistanco INcroasos with inoreane of Itlllllmlll:lll:lll:il1
B. Resistanco docionnnt Wl”l NEGHELE il llIH||IlI|I: it
C. Raoesistance docroanon willh ot of lmllllu mehuu
D. Resistanco romalng Garie with Inoreaae ol tom

w b e onlginnl vilie
wire hocomon two e
li:ﬂlg“[:ll:;nml::gmnnn ono hall 1o |ta orlglnnl valuw I

resistance of tho wire hocomon)

A. Double oy ' r’:h |
B. Fourtimon h .

C. One hall

D.

One fourth 06AOH

Fam ol 1)
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The unit of resistivily Is; ‘

A, ohm

B ohm meter
C ohm/ meter
D meter/ ohm

1 kilowatt hour =

A, 16x10"MY
B. 36x10%J
C. 91x10%J

D. 167x10%J

It is a null type resistance device for measuring potentis
differences:

Galvanometer

Ohmmeter

Ammeter

Potentiometer

COom>

CHEMISTRY

Which statement is true about electron affinity?

A. The value of electron affinity is always positive

B. The value of electron affinity is always negative

C. The value of first electron affinity is always positive
D. The value of first electron affinity is always negative

The bond which is based on attractive forces between
oppositely charged ion is:

A. Covalent bond

B. Dative bond

C. lonic bond

D. Metallic bond

Which statement is incorrect regarding a chemical Ibnnd?
A Bond is formed by the overlapping of half-filled orbitals :
B Bond is formed by the attraction of positive and negative
C. Bond s formed by the overlapping of “s" orbital is strond

D Bond formed hy the large sized atoms is strong ,
. xcept
The carbonates of alkali metals are soluble in water @

A K:CO;

B Li;CO
C NBJCC;.T 06408
D

Rb;CQ;
Vage B ot 32 ‘
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45 The nitrides of alkaline earth metals hydrolyse with watss 1,

46.

47.

48.

49,

51.

form.

A HH»
B H;
C N;
D NO

The flame colour of Ca in flame test is:
A Orange red
B Golden yellow

C Red

D Pink

Which of the following is the most stable metal carbonate?
A BaCO:

B. MgCO»

C. CaCO

D. SrCO:

The binding energy of transition metal increase upto group:
A lIB

B IVE

cC ug

D VIB

lsomerism due to shifting of proton from cne atom to ancther
in 2 same molecule is known as:

A MNetamernsm

B Tautomensm

C Position

D Functcnal

Iso-Butyl alcohol has (ollowing carbon attached 10 hydroxy

qroup: P (Na M
A Teruary cys—G"- 2 €
B Secondary Ay

C Quanenary

D Pnmary

Oxidation of alcohol glves:
A frrardss
B Alrard

¢ Aldenjde
e 06408
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52.

53.

54.

56.

57.

.

Butanone on oxidation with K:CryO; { H2S04 forny .

A. Acetic acid f
B. Acetic acid & Ethane CMa =y e 0.
C. Methane & Propanoic acid '
D. Propanoic acid & Methanoic acid

Hydrolysis of Nitriles produces:
A. Carboxylic acid

B. Aldehydes
C. Ketones
D. Esters

Acetic anhydride is a product of acetic acid, as a result of tho

following reaction:
A. Dehydration
B. Reduction

C. Oxidation

D. Esterification

Which of the following enzyme is raised in rickets?
A. Lactic dehydrogenase

B. LDH-I

C. Phosphatase

D. Alkaline phosphatase

For-a. gaseous reaction, the increase in pressure will i
equilibrium in 3 direction:
A. Decreased concentration
B. Increased concentration
Decreaseq volume
Increased volume

Acidic buffer consist of:

A .
Strong aqd and salt of it with a weak base

salt of it with

‘ . a strong base

“ \Sfjgxlga?:%d and salt of j with a stror?g base
Id and salt of jt with a weak base

7.55t0 7 65
C. 7.00t07.25

D. 7.85t07.95 06408
Page 10 of 32 ‘
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66. The breakdown of a substance with current is:
A. Thermolysis

B. Catalysis
C. Electrolysis
D. Photolysis

67. Which of the following is balanced redox equation?
A. Na+ Fe¥— Na'*+ Fe
B. Zn+ Ag"™— Zn* + Ag
C. 3Na+ Fe*— 3Na'* + Fe
D. 2Zn+ Ag'*—2Zn? + Ag

68. Stronger is the oxidizing agent, greater is the:
A. Oxidation potential
B. Reduction potential
C. Redox potential
D. EMF of cell

69. Type of bonding in Sodium (Na) is:
A. Metallic
B. lonic
C. Covalent
D. Co-ordinate Covalent

70. Which of the following Halogens molecules has maximurm
bond energy?

A F-F
B. CI-CI
C. Br-Br
D. I
71. Half atmospheric pressuro Is:
A, 400 torr
B. 50622 Pa 2y
C 101.2Pa

D. &5 pounds

72. The values of 5.T.P for 1 mole of any Idoal gas |5
Ao 21216 K E 1 atm
B C&1mmHy
C. 2751670 & 1 alm

D OK& 1atm 06408
Fapn 0 6t 1 .
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59, The buffer solution is not formed for:
A NH:OH+ NH.:CI
5. CH:COOH + CH:COONa
¢ C:H:COOH +CsHsCOONa
D HCl + NaCl

50. Inthe reaction
H.+CO:2+~— H:0 + CO
the decrease in the concentration of C ill shi i
y Touardaloh 02 will shift equilibrium:

8. Towards right
C. Nothing happens to the equilibrium
D Equilibrium will shift towards both the directions
61. At equilibrium the concentration of reactants and product
become:
A Zero
B. Equal
C. Constant
D. Infinite

82. The effect of temperature on the rate of a reaction is given by:

A. Henderson's equation
B. General gas equation
C. Arrhenius equation

D. Vander Waal's equation

63. In a reversible reaction, catalyst lowers tho activation energy

of the:
A Forward reaction

B. Reverse reaclion
C. Forward as well as reverse reaction
D. Forward reaction bul increases (hat of the reverse reaclion

64. The rate of reaction:
A. Increases as the reaction proceads

B Decreases as the reaction procoods
C. Remains the 5ame an the reaction procoods
D. May decrease of incronse an the reaction proceods

65. 0.5 molar solution NaOH contalnn:

40g NaOH In one dm’
80g NaOH in one dm’

10g NaOH in one dm’
20g NaOH in one dm’ 06408

Page 11 of 32

oom>

Scanne d with CamScanner



g——

73.

74.

75.

76.

77.

78.

79,

The expression PV = nRT represents the:
A Dallon's law

[ Avogadios law

¢ General gas equation

N Vander Waal's equalion

Pressure remaining constant, at which temperature volume of
gas will become twice to the volume at 0°C?

A 546 "C _
B. 200°C _;.,_:-:_:- o VI
C. 546 "K 2 =:_:‘
D 273°%C

A graph between volume and temperature gives a straight line
which cuts the temperature axis at:

A. 0°C

B. 273°C
C. 546°C
D. -273°C

What is not true for effusion of gases?

A. Movement of particles through small opening

B. Movement of particles from high pressure to low pressure
C. Movement of particles due to escaping tendency one by one
D Movement of particles due to collision among themselves

Upon which factor vapour pressure is independent :

A. Temperature

B. Intermolecular forces
C. Density of liquid

D. Surface area of liquid

Solid water is expanded times when itis compared with

same volume of liquid water :

A 9
B. &
C 6
D 2

Molar heat of vaporization is the amount of heat required to
convert one mole of:

A A liquid Into ils vapours at its bolling point

3B Liquid into ils vapours

C  Solds into vapours 06408

D Solid into liquid at its melting point
Papge 130l 31
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§6.

88.

83.

90.

91.

92.

Many clements have fractional atomic masses. This
an

ause: o .
v Mass of atom 1S itself fractional
e -

B' Atomic MAasses are average masses of isobars
C. AtomiC masses are average masses of isolopes

D Atomic MAasses are average masses of isotopes proportional
to their abundance

is

Mass of 1 molecule of Oz is:
~ 6.02x10%g /32

g 32/6.02x 10%%g

C. 3249

D. 0329

The number of moles of CO2 which contain 8.0 g of oxygen
are:

A. 1.0 Y
B. 4.50

C. 050

D. 0.25

Identify the correct option with same empirical formula for
both compounds:

A. H20 & Hz02

B. CsHiz & CeHs

C. H2S203 & H2504

D. CeHi20s & CH3COOH cH20

1 mole of any substance contains particles:
A. 6.02x10%

B. 6.02x10%*
G G025 10%
D. 3.01x108

What are the Avogadro's number of particles in 0.25 moles of
CO:?

A. 6.022 x 107

B. 1.505x 10°

C. 200 %107

D. 1505x 10"

The charge on one kg of electron is:
A 17588 x 10" C

B 165x107™C

C 9108510 C

D 79x10C 06408

Page 15cf 12
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’! 80. At transition temperature of crystalline solid sul |
' exists: ' DSty

| A. In most stable geomelrical form

B. Solid and liquid state
C. Indynamic equilibrium between two crystalline fors

D. In one solid geometrical form only

Some substances lack definite heats of fusjop, These

substances are:
A. Isomorphs

B. Polymorphs
C. Amorphous solids

D. Crystalline solids

81.

82. Thermal conductivity of metals is due to:
A. Layered structure of metals
B. Freely moving electrons

C. Loosely held metal atoms
D. Vibrational movement of metals

Ice floats on the surface of water due to:

83.
A. Larger bond length
B. Cubic structure of ice
C. Weak intermolecular forces
D. Empty spaces in the structure of ice
roducts are equal "
84. When number of moles of reactants and p pines i affec

reversible reactions, which parameter W

equilibrium?
A. Temperature

B. Pressure
' C. Volume

D. Catalyst

is attaine
85. By which of the following factors equilibrium state

earlier?

A. Temperature

B. Pressure

C. Concentration

D. Catalyst

06406
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- 1. Which of the following fundamental particles ha?
o mass/kg? Sare
A Electron, neutrino
B Electron, proton
C. Proton, neulnno
D. Neutron, proton

94. The lightest positive rays obtained is from:
A. Hydrogen gas
B. Helium
C. Neon
D. Air

95. The amount of energy as

sociated with quantum of radiztion i
directly proportional to: '
A. Photon
B. Wavelength
C. Frequency

D. Velocity

96. X-rays are defined as -
A. Electromagnetic radiations of high mass number
B. Electromagnetic radiations of very high frequency
C. Electromagnetic radiations of high wavelength
D. Electromagnetic radiations of high energy

97. Which of the following orbital will be filled first than 4p?
A. 45 p - 1 5
B1 2p '} 5 “I < {H;flllf g
C. 3d
D. 1s

ital:
98. Maximum electrons can be placed in one orb

ocOo@>
AW =

99. Masgs of eloctron In a.m.u s
A 10073

B3 10087
C

C o 5AB5 x 104 06408

D1 VR
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106, Identify the errors and choose the correct option:
The rehersel sesion started and we have little times to spy;

for other activities

£ The rehearsal session started and we have litie time to spare
for other activities

3. The rehearsal session started, and we litle ime to spare for
other actevities

(. The rehearsal session staris and we has littie time 10 spar
other activities

D We are little time to spare for other activities, the rehearsals

session starts.

107. Fill in the blank with appropriate option:

Lions, like any other carnivore, on meat.
A Live

BB Lives

. Does live

D Living

108. Fill in the blank with appropriate option:
The cattle _____ away the crops.
A. Has ealen
B. Is ealing
C. Have eaten
D. Have been eating

109. The word ‘LABYRINTH' means:

A. Maze
B. Heap
C. Hive
D. Knack

110. Pick the correct option:
These are old those are new.
A. These, are old, those are new.
B. These are old; those are new.
C. These are old: lhose are new.
D. These are old -—-- those are new.

111. Ahmed carried out his duty according instructions.

A. Too

B. To

C.

e 06408
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112,

113

114,

115.

116.

117.

Identify the arrors and chooso the corract aption;

the first space travelle was dannis to Trom united states

A The st space travellor was Dennis Dita from the Urited
alinles

b The Fost Spoace Travaellor was Dannis Tio, from. the rited
alalos

G The st space raveller was Dannis To-from united State

D The list space tavalor was Daennis Tito, from the United

t;!:”l'-'h

Select the right sentence,

A He openod the square red wooden box.
B He opened the jed square woodan box
C  He opened the woodon rad squarg box,
D He opened the red wooden square box,

Fill in the blank.

| can't walk .

A Farther

B Far

C  Further

D Away

Can you tell this fact his face?
A To

B On

C. Upon

D Al

Choose the correct option.

A The Three Musketeers was written by Dumas.
B The Three Mushketeers were wrilten by Dumas.
C The Three Musketeers has witten by Dumas.
D The Three Musheteers have wrtten by Dumas.

They have painted their house purple. The sentence Is an

example of:
Monotransitive
Daransitive
Complex transitive
Reflexive transitive

oOm>»

06408
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118. Select correct option: I
He was killed robbers a hatchet,

A. From, with

B. By, al
C. Through, for
D. By, with

)

Choose the correct option.
A. “Well no, perhaps not sir’
B. “Well, no, perhaps not sir".
C. "Well, no perhaps not sir"
D. “Well no perhaps, not sir"

(=

120. Find out Antonym of “Mumbled”.
A. Unprovoked
B. Quiver
C. Loud
D. Rarely

BIOLOGY

121. Negative feedback mechanism is the characteristic of which

class?

A. Class Fish

B. Class Amphibia
C. Class Reptilia
D. Class Mammalia

122. The function of papillary muscles is to:
A. Move blood from semilunar valve into pulmonary vein
B. Prevent the backward flow of blood from the ventricle
C. Push the blood from right atrium to left atrium
D. Push the blood from left atrium to aorta

123. Choose the correct pathway for the flow of blood:

A. Arterioles --- metarterioles — thoroughfare channél
capillaries

B. Arterioles — thoroughfare channel ---- metarterioles
capillaries _

C. Thoroughfare channel ---- arterioles -— capillaries =
melarterioles

D. Melarterioles ---- arterioles - thoroughfare channels

capillaries 06408
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- 124,

125.

126.

127.

128.

129,

130,

Intrinsic factor is secreted by:
A. Pancreas

B~ Liver
C. Stomach
D. Duodenum

Gaseous exchange in plants takes place through the:

A. Stomata

B. Mesophyll

C. Endoderm

D. Xylem

Translocation of organic solutes In plants takes place
through:

A. Companion cell

B. Fibres

C. Sieve tubes

D. Vessels

The only vein in the human body carrying oxygenated blood
is:

A. Femoral

B. Pulmonary
C. Renal

D. Ihac

The cells which play very Important role In developing

immunity are:

A. Monocyles

B. Neutrophils

C. Lymphocylas
. Thrombocyles

Which of the following blood vesasels have the highest
prossure of blood?

A Aorla

B Pulmonary artaries

. Pulmonary valng

0. Vana Cavi

Autolmmune diseases act al the principle of;
A Hall agoinst anligens
. Antigon agalns! sall

o Hell againsl el 06408

(3 Anligen sall deaslioyod
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152.

153.

154.

155.

156.

157.

NAD is an example of
A. Mononucleotide

B. Dinucleotide

C. Tri nucleotide

D. Tetra nucleotide

What would be the number of nucleotides for a protein
molecule of about 142 amino acids?

A. 430
B. 142
C. 426
D. 460

The basic structural framework of all types of membranes are:

A. Glycolipids

B. Glycoproteins
C. Lipoproteins

D. Nucleoproteins

Non Protein but inorganic detachable co-factor is called

A. Activator

B. Prosthetic group
C. Co-enzyme

D. Apo-enzyme

When inhibitor binds to enzyme other than active site and
alters its structure, then it is called:

A. Competitive inhibitor

B. Non - Competitive inhibitor

C. Reversible inhibitor

D. Irreversible inhibitor

Cyanides are potent poisons of living organism and can Kill
by inhibiting essential for cellular respiration:

A. Cytochrome oxidases

B. Dehydrogenases

C. Hydrolases

D. Nucleases

06408

Page 25 al 32

Scanne d with CamScanner




s

158. During feedback inhibition, which of the following struciyy

part of enzyme is involved?
A. Aclive site

B. Binding site
C. Catalyticsile
D. Allosteric site

f-‘lg?f.\Which of the following enzymes does NOT need a co-factor?
A. Hexokinase
B. Pepsin
C. Alcohol Dehydrogenase
D. Carbonic anhydrase

160. If another molecule, having a shape very similar to the
enzyme's substrate, binds to its active site, it would then
the enzyme's function:
A. Fasten
B. Inhibit
C. Reverse
D. Decrease
161. Myofibrils within the muscle fibres contain thick and thin
filaments made up of and respectively:
A. Myosin and Actin
B. Globulin and Albumin
C. Troponin and Tropomyosin
D. Fibrin and Fibrinogen
162,

Vertebrae of the neck are called:
A. Coccygeal vertebrae

B. Cervical vertebrae

C. Sacral vertebrae

D. Lumbar veriebrae

163.

Which vertebrae together are called polvic vortobrae?
A. Coccygeal and lumber

B. Sacral and lumber
C. Sacral and cocoygeal
D. Sacral and thoracic
164, The u:?rmr.t option about spinal norvos |Is
A 233 pairs
B. Mostly mized narves
C Paraa! rost containg wensory nourons
D. Ventral roo comaing motor neurons

06408
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178. Within the chromosomes, each chromatid contains
DNA molecule:

S

A One
B Two
C. Three
n Hall

Modification in the organization of the basic pentadactyl limb
structure found in vertebrates provides good evidence for the
principle of:

A Adaplive radiation

B Convergent evolution

C. Genetic dnft
D Inheritance of acquired characters

179.

following is a genetic disorder in which

180. Which one of the
lungs and other

abnormally thick mucus is produced in the

parts of the body?
A. Lung cancer

B. Chronic bronchitis
C. Cystic fibrosis

D. Emphysema

181. Oxygen released into the atmosphere comes from:

A. CO:
B. HO
C. CsH120s6

D. COzand H20

182. End product of glycolysis in yeast is:
A. Ethanol and Carbon dioxide
B. Lactate
C. Pyruvale
D. Acetyl Co. A

183. First infectious disease against which effective method of
prevention developed was a :
A. Bactenal disease
B. Viral disease
C. Protozoan disease
D Viroid disease

06408
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184. infection is caused by a viroid :
A. Hepalitis A

B. Hepatitis D

C. Mad Cow disease

D. Mysterious brain infection

185. Numerous opportunistic diseases might attack a person
suffering from which of the following diseases?
A. Measles
B. Influenza
C. Hepatitis A
D. AIDS

186. A combination of alpha interferon and ribavirin is used for the
treatment of hepatitis:

A. B
B. A
C. B
B.. G
187. Cysts are not resistant to but spores aro :
A. Light
B. Desication
C. pH
D. Heat

188. In which phase of bacterial growth, thoy divide at oxponantlal
rate?

A Lag phase

B. Logphase

C. Statonary phase
0D Declineg phase

189. Seloct a mothod which causos the oxldation of chemloal
constituant of a bactorial coll:
Lo Ddeam
B Diry hesat
. Filtration
[, Hadiation

140, Hrm: thoos chomosynthosls differ from photosynthonls?
Mo Lnittes of snngegy

fs ‘!rnlll.lr_l'lhn ) farepiatiie, '-“'”I’J”l"l”’ﬁ
O Hodudion ol (0,

0. Catneed tan by bintdntin

06408
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191.

193,

194,

LALL(N

1on,

which one
tocomotion ”
A Anmeelna
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161, Which one = different with  respect o s modes ’
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193. Select a sessile zooflagellate:

s
- Tr‘:““v*“'n
B Tnpanosoma
C. Choanoil :elhte
D. Euglena
194. Many expel large amount of water by spoecial

structures called contractile vacuoles:

A. Protozoa

B. Ponfera
C. Echincdem
D. Fish

195. Chlorophyta are considered to be closest to plants but do not

resemble plants in having:
A. Chlorophyllaandb

B. Starch as stored food
C. Cellulose cell wall

D. Multicellular sex organs

196. Asexual spores of fungi are called :
A. Conidiospores
B. Zygospores
C. Ascospores
D. Basidiospores
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197. Which characteristic led to the evolution of seed?
A. Heterogamous condition
B. Development of heterospory
C. Embryo formation
D. Protection of reproductive cells

198. The term which is not related to the process of evolution ¢
leaf :

Y A. Overtopping
B. Planation
C. Heterospory

A. Mosses

B. Ferns

C. Gymnosperms
D Angiosperms

200 Excretory system consisting of protonephridial tubes aré
~ presentin phylum:

A. Porifera
B. Annelida

C. Platyhelminthes
D. Cnidaria

D. Fusion / webbing
' 199. The most successful land adapting plants are :
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145. Fibers of extracellular matrix are attached to — i

plasma membrane:
Phospholipids
Carbohydrales
Glycolipids
Proteins

oo® >

146. organelles involve in the synthesis of plant cell vz
Endoplasmic reticulum

Golgi complex

Lysosomes

Peroxiosomes

coOw>

147. Select the pair of organs which contains a large number of
mitochondria:
A. Stomach & Liver
B. Muscle & Stomach
C. Heart & Liver
D. Liver & Muscle

148. Which of the following cells does not have nucleus?
A. Muscle cell
B. Nerve cell
C. White Blood cell
D. Red Blood cell

149. Most abundant organic compounds in mammalian cell are:

A. Water
B. Lipids
C. Carbohydrates
D. Proteins
150. Second most abundant bio element in human body is:
A Oxygen
B. Carbon
C. Hydrogen
D. Nilrogen

161, Lecithin Is formed by combining phosphatidic acid with

Serine

A.

B Choline

C. Inositol

D. Ethanolamine 06408
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138. Which organ is called as the body's thermostat?
A. Pituitary gland
B. Kidneys
C. Hypothalamus
D. Adrenal gland

139. The uptake of sodium in the ascending limb of loop of Henle

is controlled by:
A Aldosterone

B. ADH
C. Glucosterone
D. Thyroxin

140. The multinucleated mass of the bone forming cells is called:

A Osteoclasts
B. Osteoblasts
C. Osteogenics
D. Osteocytes

141. Chief material present in the cell walls of plants, fungal and

prokaryotic cells are:
A. Proteins

B. Lipids

C. Polysaccharides
D. Phospholipids

442.)Which type of leucoplasts store lipids?

= A. Amyloplast

B. Elaioplast
C. Proteinoplast
D. Etioplast

143. Which type of movement through cell membrane is not energy

consuming process?

A. Endocylosis

B. Exocylosis

C. Active transport
~ D. Osmosis

r7'144j“ Cholesterol molecules in plasma membrane are present in

A Outer membrane of phospholipid
B Inner membrane of phospholipid

C. Both layers of phaspholipid
D. Between bilayers of phospholipid 06408
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